TR 26 FEEBRBES0OMTA 7 IV EEFHE H26.10.12
BE B 5B HE K4 1 2 3 4 5 6 a&t EE X
50mP60M 1 1 24 v =2 97 97 100 99 98 96 587 23
50mP60M 2 1 23 X% B— 96 99 96 99 98 95 583 25
50mP60M 3 1 32 M1 BB 96 98 97 98 94 98 581 21
50mP60M 4 1 38 FE i 95 97 97 98 95 96 578 18
50mP60M 5 1 21 #M@A iR 94 94 96 99 97 95 575 22
50mP60M 6 1 26 &% %*& 97 98 93 97 96 93 574 20
50mP60M 7 1 37 &K #E 95 97 95 93 98 96 574 19
50mP60M 8 1 31 d% # 95 96 96 95 95 95 572 9
50mP60M 9 1 42 P8 &3 92 96 94 96 98 95 571 24
50mP60M 10 1 27 XA B 92 96 96 94 96 96 570 17
50mP60M 11 1 19 HE fh— 95 96 93 96 97 93 570 17
50mP60M 12 1 33 ma EiF 94 96 96 96 93 94 569 15
50mP60M 13 1 41 #H# &7 97 95 91 94 94 95 566 11
50mP60M 14 1 36 F% &A 91 96 92 93 96 93 561 11
50mP60M 15 1 20 @R —= 91 95 95 93 91 94 559 10
50mP60M 16 1 43 /% B2 94 93 93 93 92 93 558 16
50mP60M 17 1 46 &8 B 89 93 92 93 96 94 557 16
50mP60M 18 1 35WE = 93 96 91 91 95 89 555 10
50mP60M 19 1 40=@ * 89 93 91 93 94 94 554 7
50mP60M 20 1 29 st —i 92 92 95 95 90 86 550 15
50mP60M 21 1 45 K& % 89 87 87 93 92 93 541 11
50mP60M 22 1 22 @ Mk 91 99 91 93 91 75 540 13
50mP60M 23 1 34 Ei& FER 90 94 91 87 86 88 536 9
50mP60M 24 1 30 R# #H— 91 88 92 87 87 91 536 8
50mP60M 25 1 44 )| E=E 91 94 86 89 84 90 534 4
50mP60M 26 1 39 ik KL 83 90 87 90 87 88 525 10
50mP60M 27 1 28N B 84 89 82 87 86 93 521 3
50m3X20MW_S 1 48 #5K =& 86 93 99 96 79 68 521 11
50m3X20MW 1 2 33 LA =KH 94 96 94 94 90 91 559 14
50m3X20MW 2 2 35k kE 87 93 93 89 89 87 538 7
50m3X20MW 3 2 32 #XK ME 87 88 94 97 89 81 536 10
50m3X20MW 4 2 340\ E=E 81 88 92 93 87 88 529 6
50m3X20MW 5 2 31 @ Mk 86 91 90 92 76 79 514 6
50m3X20MW 6 2 37 R BF 81 80 93 88 77 80 499 4
50m3X20MW 7 2 36Kn = 81 81 94 89 58 76 479 4
ERk26EE 108 Al H26.10.12
HE B 5B SE K& 1 2 3 4 5 6 =Xl ik

10mS60M 1 1 20 ;5% X 981 976 973 986 97.7 1004 589.7

10mS60M 2 1 24 xXZF BHA 959 983 993 948 98.7 100.1 5871

10mS60M 3 1 19 BT E% 934 981 980 966 983 98.7 583.1

10mS60M 4 1 18 ET #ith 96.3 960 956 946 946 926 569.7

10mS60M 5 1 21 K FEF 93.7 882 937 892 979 870 549.7

10mS60M 6 1 23 A g3 973 86.2 899 893 933 889 5449

10mS60M 7 1 22 =5 BIT 924 80.1 907 945 829 990 539.6

10mP60M 1 2 18 i@\H A= 1048 1050 1044 106.1 1049 1028 628.0

10mP60M 2 2 19 B E#¥ 998 998 103.6 103.1 101.8 104.1 612.2

AP60M 1 2 21 A% g2 90 84 85 87 83 85 514

HR4OMW 1 2 22 #HN EE 90 83 91 86 350



